
POSLOUPNOSTI a ŘADY

an=am + (n−m)d
• n-tý částečný součet

sn = a1+…+an = σi=1
n ai = 

n

2
(a1+an)

Aritmetická řada
s = a1+a2+… = σi=1

∞ ai = lim
𝑛→∞

sn



POSLOUPNOSTI a ŘADY

• n-tý částečný součet (q≠1)

sn = a1+…+an = σi=1
n ai = a1 

1−qn

1−q
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an ≈ AP → ban ≈ GP  pro b>0, b≠1

an ≈ GP → logb(an) ≈ AP pro b>0, b≠1
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= 1 + x + x2 + …
Jde tedy o součet v GP, a1=1, q=x: 

s = a1/(1−q)  … pro |q|<1   →
f(x) = 1 + x + x2 + … = 1/(1−x)          pro |x|<1 
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f(x) = 1 + x + x2 + … = 1/(1−x)          pro |x|<1 
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f (x) = ex = 1+ x + 
1

2!
𝑥2+

1

3!
𝑥3+ … = σ𝑛=0

∞ 𝑥𝑛

𝑛!
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https://cs.wikipedia.org/wiki/Mocninn%C3%A1_%C5%99ada#/media/File:Exp_series.gif

